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var = “Python Jupyter Notebook”

print("Z® {} v—ILEMELTLVS.". format(var))
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%lsmagic

Available line magics:

%alias %alias_magic %autoawait %autocall %automagic %autosave %bookmark %cd %clear %cls %colors %conda %config %connect_inf
o %copy %ddir %debug %dhist %dirs %doctest_mode %echo %ed %edit %env %gui %hist %history %killbgscripts %ldir %less %lo
ad %load_ext %loadpy %logoff %logon %logstart %logstate %logstop %ls %lsmagic %macro %magic %matplotlib %mkdir %more %not
ebook %page %pastebin %pdb %pdef %pdoc %pfile %pinfo %pinfo2 %pip %popd %pprint %precision %prun %psearch %psource %push
d %pwd %pycat %pylab %qatconsole Y%aquickref %recall %rehashx %reload_ext %ren %rep %rerun %reset %reset_selective %rmdir %r
un %save %sc Y%set_env %store %sx %system %tb %time %timeit %unalias %unload_ext %who %who_ls %whos %xdel %xmode
Available cell magics:

Wh!  %%HTML  %%SVG %%bash %%capture %%cmd %%debug %%file %%html %%javascript %%js %%latex %%markdown %%per| %%prun %%pypy
%%hpython %%python2 %%python3 %%ruby %%script %%sh %%sveg %%sx %%system %%time %%timeit %%writefile

Automagic is ON, % prefix IS NOT needed for |ine magics.
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test.pyZ/ERL L THS.
#itest.py

print("Hello World!")

UFowILZRITUT, D750 —Rz20—-RUET

# %load . /test.py
#itest. py
print ("Hello World!”)
Hello World!
LTI ZETUT, testpy I 7ML I—RZEFEITUET

%%bash
echo “print (' Hello Python!")” > test.py

Couldn’t find program: 'bash’

%cat “print('Hello Python!’)” > test.py
UsageError: Line magic function “%cat’ not found.
%run ./test.py

ERROR:root:File *'./test.py’ = not found.
T2 ZETUTC. O— ROFEIZETDET.

x L NIy ODEITY .

%%time
slow_sum = 0

for i in range(1000000) :
slow_sum = slow_sum + i

slow_sum

CPU times: user 145 ms, sys: 0 ns, total: 145 ms
Wall time: 150 ms

%%time

faster_sum = sum(range (1000000))



faster_sum

CPU times: user 27.1 ms, sys: 949 us,
Wall time: 29.2 ms
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# BDREER
type (1+5)) # EHRHE
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#t HOHEDR
type ( Python~& S5 2% ') # XFHE str

str

type (3. 14159265358)

float
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for a in 1," X5 ,3.14,1+5j:
print(a)
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s="'"9131E33HED5B
print (s[0],s[1],s[-2],s[-1])
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print(s[1:-3])
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type ()

str

len (3X)
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[ Python (/84 V>) BA28—T ) SDOBKEABTO TSIV IEETHD \

JA b I - AyHLAICLYAIY SN, 1991FISEKAISY U — Xéhtymmwa# Ak, HEHKRTIA FRAR—R (FTHA KL—L)DE
ERFEAICE>Ta—FOAHEMEERHRLTWLD . ) }
EQEBBREA TV MERADOTIO—FE, TRITSINNMRABLTOD ) rALKBERLGTOD ) bET, PETHENGI - FEEL
NEXETHELEEAMELTVD,

]
del XM R KI[-1]

X0y R+
['Python (/SAVY) A8 —TYLROEKEARTOISIVIEETHD,

AR -7y Ry ALICEIYBIYHSK, 19NFITKRAITY Y —RSNEPythonDREFEZEL. ARLGRTA FAR—R(FTH A FIL—IL) DER
ELGERICE>Ta—Foa@EEEERLTLS . . . )
ETDEBBEREA TV MERAQT7 JO—FF, TRV SIAPMRBLTOC Y bALARREL IOz bET, PRTHEMNGEI—FEEL
NDEXETAHEEEHMELTNS']

XD AR [-1]
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s3 = XD R K~[-1]
len(s3)
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s3.split(. ")
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"BHETCHEBENALA O —FEELDEZETHLEZEMELTINS ]
o IuzEA
& = [ F& :0xff0000, #& :0x00ff00, &' :0x0000ff}
izl
{"7' : 16711680, '#k : 65280, '&' : 255}
RGB = {
(255,0,0) : "#F,
(0,255,0) : "#,
(0,0,255) : 'FH’
]
RGB
{(255, 0, 0): "5, (0, 255, 0): "# ', (0, 0, 255): '"&F'}

Bl ]

16711680

RGB[ (255,0,0)]

’ ’
Ii N

. keys ()

dict_keys([' %", "#&', "&'1)

RGB. keys ()

dict_keys ([ (255, 0, 0), (0, 255, 0), (0, 0, 255)1)

. values()

dict_values ([16711680, 65280, 255])

RGB. values ()

dict_values(['7&', "#', "& 1)
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o fX
e while XX
e forX

e continue XX

o {HI5tonIE

* assert X

e with XX

temp_unit = 'Celsius’

print (temp_unit)

if temp_unit == 'Fahreneit’:
print(“T in ° F")

elif temp_unit == "Celsius’:
print(“T in ° C”)

elif temp_unit =="Kelvin':

print(“T in ° K")

Celsius
Tin®C

units = [('Celsius’, Fahreneit’), ( Kilometer’, Mile'), (" Centimeter’, Inch’ ), (Kilogram

i =0
stop = len(units)
while i<stop:
print (i)
k1, k2 = units[i]
print(“unit pair: (", k1,”,",k2,")")
i+=1

0
?nit pair: ( Celsius , Fahreneit )
unit pair: ( Kilometer , Mile )

2
gnit pair: ( Centimeter , Inch )
znit pair: ( Kilogram , Pound )

unit pair: ( Square meter , iF )

for k1,k2 in units:

print (“unit pair: (", k1,"," k2,")")
unit pair: ( Celsius , Fahreneit )
unit pair: ( Kilometer , Mile )
unit pair: ( Centimeter , Inch )
unit pair: ( Kilogram , Pound )
unit pair: ( Square meter , IE )

for X=F in "HREXIRTL
if X=F == "[&":
continue
print ( X=F ', XF)

X
R 4
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# s a0

try:
1/0

except ZeroDivisionError as exc:
print (exc)

division by zero

# assertX
def KelvinToFahrenheit (Temperature) :

assert (Temperature >= 0),70° KATIE#EFEE LY £ FE L (Colder than absolute zero)!”

return ((Temperature-273)*1.8)+32

print ("273° KI&’, KelvinToFahrenheit(273), ° F')
print ('505.78° K(&', int(KelvinToFahrenheit (505.78)),"° F")
print ("-5° KI&’,KelvinToFahrenheit(-5),"° F")

273° Kix 32.0 ° F
505.78° Kix 451 ° F

AssertionError Traceback (most recent call last)
{ipython-input-36-f024ef58f10f> in <module>

6 print ("273° KIi%' KelvinToFahrenheit(273), ° F")

7 print ('505.78° KIix' int(KelvinToFahrenheit(505.78)), ° F')
-——-> 8 print ("-5° KI&', KelvinToFahrenheit(-5), " ° F')

{ipython-input-36-f024ef58f10f> in KelvinToFahrenheit(Temperature)
1 # assertX
2 def KelvinToFahrenheit (Temperature) :

,"Pound’), (" Square meter’

-——=>3 assert (Temperature >= 0),"0° KU TIE#MFTE LY £ ELV(Colder than absolute zero)!”

4 return ((Temperature-273)*1.8)+32
5

AssertionError: 0° KEATIE#EIFTE LY £ FE L (Colder than absolute zero)!

)]
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Python (/N4 YY) IFA4A 8 —T A BOEKENRTIOYSIVIEETHD,

AR -Y7o-OvHLIZEYBRIYEESh, 1991FIZRAIC) J—R ST -PythonDFETE (4.
BELBKRIDA PRAR=R(FTHA FIL—IL)DBELFERICE>Ta—FOAHEEZERL TS,
TOEEEREAT OV FRAOT7 JO—FIE, 7RIS INNRELTOD Y PHALKEBEL
TOYz Y ET, PBECTHEMNEI—FZELDEXETHIILEZEAMELTLS,

with open(wiki.txt", "w') as file:
file.write(X)

%ls
ESAT CDRY1—L SRLABHYELA,

ARya—L PYTF7ILESIL 061F-51F2 T
C:¥Users¥david¥Documents¥Practice2021 ®OF 4 L% kU

2021/04/20 13:43 <DIR>
2021/04/20 13:43 <DIR> ..
2021/04/20 12:12 <DIR> . ipynb_checkpoints
2021/04/20 13:42 67,283 Basic20210420. ipynb
2021/04/20 12:06 41,482 Basic20210420_JP. ipynb
2021/04/19 16:01 1,362, 832 students—name. docx
2021/04/20 13:43 434 wiki.txt
2021/04/06 12:59 354 O—X;EE] 2021, txt
5 EDT774A4IL 1,472,385 /NA k
SEDT« LY Y 137,647,845,376 /84 FDZE =4EiE

ESESN

o def BERAGGIEN,51E82,..): ..

Python XU~ ~

. B ZH R
e UZK
o XFHIR

def num_to_str(n):
return str(n)

def str_to_int(s):
return int(s)

def str_to_float(f):
return float(f)

if __name__ == "__main__
# aOAD L BITINGULT

AL RITSNGVERDT

LEOEKETFVHT

float_num = 999. 01

int_num = 87

float_str = "23.09

int_str = "19’

string = "how now brown cow’

s_float = num_to_str (float_num)

s_int = num_to_str (int_num)

i_str = str_to_int(int_str)

f_str = str_to_float(float_str)
print(s_float, '(&', type(s_float), #")
print(s_int, "(&', type(s_int), %)
print(f_str, "(&', type(f_str), &)
print(i_str, '(&’, type(i_str), &)
print (" ¥nstring’, ' + string + "“I&’, len(string), "X=F)
str_ls = string. split()

print( XFZn%E|:", str_lIs)

print(C JR &S, * . join(str_ls))

999.01 (& <class 'str’'> #!
87 & <class 'str'> #
23.09 (% <class 'float > #
19 (% <class 'int' > %

string “how now brown cow”l& 17 X=F
XFEE9E: ["how, 'now, 'brown, 'cow ]
IJ R kZ# & how now brown cow

o X A [item1,item?2,..]]

# )X ME]

if __name__ == "__main__"
Is = ["orange’, 'banana’, 10, 'leaf’, 77.009, 'tree’, 'cat’]
print(C JRX FDERE:", len(ls), "items’)



print(cat®#y:’, Is.count (' cat’)

print( ¥nlistDig4E:")

cat = Is.pop(6) #JU R FDO6EBEZREHT
print('cat:", cat, ', list:", Is)

Is. insert (0, 'cat’) #' X FDOFHIZ cat’
I's. append (99) #1J A RIZ99% &M

print(ls)
[s[7] = "11°
print(ls)

Is. pop (1)
print(ls)

I's. pop ()
print(ls)
print( ¥nlistd XS4 R ")
print( %88~ 3&FBE T

print( RKE~3FEBZET

print (' 2~5%&H

print( REND SFB~FKEET

print( EEMNL2EBEBH~RKEND2EHE
printC¥nBldY R EOSEFHLWLY R FZEERK
print( list

fruit = ["orange’]

more_fruit = ["apple’, "kiwi’
fruit. append (more_fruit)
print("appendLf=2/IL—Y 1) X
fruit. pop (1)

fruit. extend (more_fruit)
print( extendLz2/L—Y1) X k
a, b= fruit[2], fruit[1]
print('sliceLf=7I)L—Y

BURXLDIEBEINICEE

"pear’ ]

JRXLDEFRE: 7 items
cat#: 1, catD{IE: 6

listigk:

cat: cat , list:

['cat’, 'orange’

['cat’, 'orange’

['cat’, 'banana’

[ ", "banana’,

"banana’, 10,
10, ' leaf’,
10, ' leaf’,
"leaf’, 77.009
"leaf’, 77.009

[' orange’
"banana’
"banana’
10,
10,

"tree’,
"tree' ]

(<]
[V
+

[ cat’

[' leaf’,
[ banana’,
[" leaf’,
[" banana’,

3 REREN]
OO w N

Z 7

T:'.IJOD'JZ koo #EHmLWLY
ist

appendL =2 J)L—Y 1!
extendL =2 I)L—V!
sliceLf=27IL—YY

[' cat’
[’ orange’

[" orange’

o AF)LEY (item1,item2,..)

B 2TILE(

if __name__ == "__main__"

tup = ("orange’, 'banana’, 'grape’
print("tuple®ZER%:", len(tup))
print( grape®#k:’, tup. count (' grape'))
print( ¥ntuple® XS4 X ")

print( %£8E~3&FBE T

print( RKE~3&FEBZET

print(' 2~5%&H

printC RKENSSBFEB~FKEZET
print(C £EBEMG2BEBE~KXKEMNBH2EHE

"app|l

(" orange’,
("apple’,
(' banana’,
(' grape’
(' banana’,

if __name__ == "_main__"

audio = {"amp’ :'Linn’, 'preamp : Luxman’
"ic' ' Crystal Ultra, 'pc' :'JPS’
"sp' :'Crystal Ultra', 'cdp
print("E#ZE (F¥F—{E) ®') R k:¥n", audio)

"catD I E

"leaf’,
77.009,
77.009,

"banana’,
77.009,

77.009,

"banana’

S kiwi apple

"banana’,
"grape’)

"grape’,
"apple’

"grape’,

2" Nagra’,

EHEA

[s[:3])

[s[3:1)

Is[1:5])
o Is[=3:])
Do Is[1i-11)
)
o 1s)

. fruit)

. fruit)

, a, b)

77.009, ' tree']
"tree', 99]
"tree', "11']
"117]

10]
"tree']
77.009]
"tree']
77.009]

10, ' leaf’,

10, ' leaf’,

10,
["apple’,
"apple’,

"leaf’,
"kiwi',

"kiwi', 'pear’]

e', 'grape’)

", tup[:3])
" o tupl3:])
", tup[1:5])
", tupl[-3:1)
", tupll:-11)

"grape’)

"apple’, 'grape’)
"grape’

"apple’)

"speakers’ i’ Energy’
, 'power’ :'Equi-Tech’
"up’ ' Esoteric’}

print("EEZENDF—: ¥n”, list(audio. keys()))

del audio[ up’]

print( “up” DEXRZHIRK)
print(audio, "¥n')
print( FEICERZEM)
audio['up’] = 'Oppo

print(audio, "¥n')
print(NAA—7T ¢« A#E(1&:", audio[ up’
dict_Is = [audio] #FEZ% ) R FIZHE#HT 5

1, "¥n")

77.009,
"pear’ 1]

[s. index (' cat’))

"tree' ]



video = {'tv' :'LG 65C7 OLED", 'stp :'DISH, "HDMI' :’DH Labs’
"cable’ : 'coax’'}

print( BEA T FDYR L)

dict_Is. append(video) # dict Is!) A kIZvideoBFEZEMT %

for i, row in enumerate(dict_Is):
print(i, 78", ")
print (row)

HE (X—{8) OUR b

amp’ : 'Linn’, 'preamp’ : 'Luxman’, 'speakers’: 'Energy’, 'ic’: 'Crystal Ultra', 'pc’:
a', 'cdp’ : '"Nagra', 'up : 'Esoteric’}
HEDX—:
[amp’, 'preamp’, 'speakers’, 'ic’, 'pc’, 'power’ , "sp’, 'cdp’, ‘up']

“up” D& F ZHIBR

{:amp’i "Linn’, 'preamp’ : 'Luxman’, 'speakers' : 'Energy’, 'ic': 'Crystal Ultra', 'pc’:

a', 'cdp’ : 'Nagra'}
BEICERZEM

{:amp': "Linn", 'preamp’ : 'Luxman', 'speakers’: 'Energy’, 'ic': 'Crystal Ultra', 'pc':

a, 'cdp’ : 'Nagra', "up : 'Oppo’}
RRAA—T 1« FH2R1E: Oppo
BHEA TSI MDY R K

78

,_'cdp’: "Nagra', "up’: 'Oppo’}

178
"tv': 'LG 65C7 OLED", 'stp': 'DISH, '"HDMI': 'DH Labs’, ’'cable' : 'coax'}

_-_—-m_.-jo

e X RMAE (List Comprehension)

# VX +FAE (List Comprehension)

if __name__ == "__main__

miles = [100, 10, 9.5, 1000, 30]
kilometers = [x * 1.60934 for x in miles]
print (milesZkmlZZE#:")
for i, row in enumerate (kilometers):

print ( {:>4} {:>8}{:>8} {:>2}".

format (miles[i], 'miles is'", round(row,2), "km'))

print (" ¥npet:")
pet = ['cat’, "dog', 'rabbit’, 'parrot’, 'guinea pig’, 'fish']

print (pet)

print (" ¥npets:’)

pets = [x + 's” if x I= "fish" else x for x in pet]

print (pets)

subset = [x for x in pets if x I= "fish’ and x != "rabbits’
and x != "parrots’ and x != 'guinea pigs’]

print(¥n—fgpa Ry b))

print (subset[1], "and , subset[0])

sales = [9000, 20000, 50000, 100000]

print(( ¥niR—+x:")

bonus = [0 if x < 10000 else x * .02 if x >= 10000 and x <= 20000
else x * .03 for x in sales]

print (bonus)

print( ¥ndict®R—4 ")

people = ["dave’, 'sue', "al’, 'sukki’']

d={}

for i, row in enumerate (people):
dlrow] = bonus[i]

print(d, "¥n')

print (" {:<8} {:<4} . format( %8, HK—F2R"))
for k, y in d. items(:
print (" {:<6} {:>6} . format(k, vy))

milesZ kmlZZE#a:
100 miles is 160.93 km
10 miles is 16.09 km
9.5 miles is 15.29 km
1000 miles is 1609. 34 km
30 miles is 48.28 km

L cét’, "dog’, 'rabbit’, 'parrot’, 'guinea pig', 'fish']

pets:
['cats’, "dogs', 'rabbits’, 'parrots’, 'guinea pigs', 'fish']

— Ry b
dogs and cats

h"—F R
[0, 400.0, 1500.0, 3000.0]

dictBAR—74 R
{"dave’ : 0, 'sue’: 400.0, "al’: 1500.0, ’'sukki’: 3000. 0}

tEE R—F 2
dave 0
sue 400.0
al 1500.0
sukki 3000.0

amp': "Linn’, 'preamp’ : 'Luxman’, 'speakers' : 'Energy’, 'ic': 'Crystal Ultra', 'pc’':

"JPS’,

"JPS’,

"JPS’,

"JPS’,

"power’ :

"power’ :

"power’ :

"power’ :

"Equi-Tech’,

"Equi-Tech',

"Equi-Tech’,

"Equi-Tech',

"sp’

"sp

'Sp'i

"sp’

"Crystal Ultr

"Crystal Ultr

"Crystal Ultr

: "Crystal Ultr



